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QUESTION 1

Which of the following Git commands creates a new, empty Git repository? 

A. git clone 

B. git fork 

C. git pull 

D. git in it 

Correct Answer: D 

 

QUESTION 2

An IT associate is creating a business case to adopt a DevOps approach in an organization. Which of the following is a
benefit of DevOps to include in the business case? 

A. The DevOps tool framework reduces the mean time to recovery and number of outaqes, which results in increased
sales. 

B. Developers take on the work of the operations team. The operations team, therefore, needs fewer people, reducing
the number of people the organization needs to pay. 

C. The frequency and stability of software deployments will be increased, which can lead to faster time to market. 

D. The new DevOps team takes over the work the development team does not have time to complete. The developers
then have time to create new features. 

Correct Answer: C 

 

QUESTION 3

Which of the following best describes serverless computing? 

A. A model of software that packages up code and all its dependencies so the application runs quickly and reliably from
one computing environment to another 

B. A model where a provider manages the back-end infrastructure management tasks, such as provisioning, scaling,
scheduling, and patching 

C. An abstraction layer over computer hardware that allows the hardware elements of a single computer-processors,
memory, storage, and more-to be divided into multiple segments 

D. A solution comprised of sensors, software, and other technologies for the purpose of connecting and exchanging
data with other devices and systems over the internet 

Correct Answer: B 
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QUESTION 4

What is an appropriate cost consideration when implementing serverless functions in the cloud? 

A. vCPU resources and disk cache 

B. Elapsed lime of function execution and memory used 

C. Virtual machine configuration and memory allocation 

D. Runtime environment and container configuration 

Correct Answer: B 

 

 

QUESTION 5

Which of these providers host repositories of container images? 

A. Docker Hub 

B. GitHub 

C. Container Index 

D. GitLab 

Correct Answer: A 

LFCA PDF Dumps LFCA Practice Test LFCA Exam Questions

Powered by TCPDF (www.tcpdf.org)

LFCA PDF Dumps | LFCA Practice Test | LFCA Exam Questions                                3 / 3

https://www.pass4itsure.com/lfca.html
https://www.pass4itsure.com/lfca.html
https://www.pass4itsure.com/lfca.html
http://www.tcpdf.org
https://www.pass4itsure.com/lfca.html
https://www.pass4itsure.com/lfca.html
https://www.pass4itsure.com/lfca.html

